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= & ERBRE e B B | SOEER | mEREne/ LT Bt
> Hh S S (mg/L)
B AT AT kBT EBA BeE | BME | BAME
B RIY A O O 48 0 < 0.0003 < 0.0003] 0.003
BT v O O 48 0 <01 <01 Bl b
I O O O O 64 0 < 0.005 < 0.005 0.01
VI IZA=NA O O O 0 64 0 <002 <002 0.05
Wt O O O O 64 1 1.6% |< 0005  0.021 0.01
NS O O O10 64 0 < 0.0005 < 0.0005| 0.0005
7L L KGR O O O 0 14 0 < 0.0005 < 0.0005 | it &fini b
PCB O O 40 0 < 0.0005 < 0.0005 | #iisnziz
ruan AR O O O O 64 0 < 0.002 < 0.002 0.02
DU EAL Bk SR O O 48 0 < 0.0002 < 0.0002| 0.002
ke =LE)v—| O O 48 0 < 0.0002 < 0.0002| 0.002
12-v7vuxxy | O O O O 64 0 < 0.0004 < 0.0004| 0.004
Hlirvrnu=z5o [0 00| 0O 64 0 <001 <001 01
L
% |12v7eezFLr [ OO O O 64 0 <0004  0.004 0.04
% 111-h Y 7aezsy | O O O O 64 0 < 0.0005 < 0.0005| 1
q 112ty 7aoxsy | O O 48 0 < 0.0006 < 0.0006| 0.006
ryZooxzFLy | O O O O 64 0 < 0.001 < 0.001 0.01
Ft7snuxzFLy | O O O O 64 0 < 0.0005 < 0.0005| 0.01
13v7an7uy | O O 48 0 < 0.0002 < 0.0002| 0.002
F5 A O O 48 0 < 0.0006 < 0.0006| 0.006
e O O 48 0 < 0.0003 < 0.0003| 0.003
FARUH LT O O 48 0 < 0.002 < 0.002 0.02
Nr¥y O O 48 0 < 0.001 < 0.001 0.01
Tl O O 48 0 <0002  0.002 0.01
MRt ERLOERBEESE | O O O @ O 64 0 0.04 10 10
Ao O O O O 64 0 < 0.08 0.34 0.8
ELY - O O O O 64 1 1.6% |< 0.02 14 1
1,4-2 4% O O 48 0 < 0.005 < 0.005 0.05
ST S 32 2 14 16 (9 64 2 3.1% — —
k1 BEERA 3. 4 XM, Eo, BEA S 1T, BEIAAE 3. 4 EHIEAEEL TWA,



O ZHEHHEA

i 5 ERBEEENE | w oz | BERT
® P g e Ebman | MR EEE
B AT AT BB EBW| ek | B0ME | BAE | (mg/L)
AR =E VBN O 16 0 < 0.006 < 0.006 0.06
12-Y7un7unsy O 16 0 < 0.006 < 0.006 0.06
p-YrmrR Py O 16 0 <002 <002 0.2
LI XY FA O 16 0 < 0.0008 < 0.0008| 0.008
BT ) O 16 0 < 0.0005 < 0.0005| 0.005
Zrx=huFtr O 16 0 < 0.0003 < 0.0003| 0.003
A TaF+T O 16 0 < 0.004 < 0.004 0.04
4 O 16 0 < 0.004 < 0.004 0.04
sungn=j O 16 0 < 0.004 < 0.004 0.05
Fr bW IR O 16 0 < 0.0008 < 0.0008| 0.008
g [EPN O 16 0 < 0.0006 < 0.0006| 0.006
Bi|lormaR=z O 16 0 < 0.0008 < 0.0008| 0.008
% T ) TANT O 16 0 < 0.002 < 0.002 0.03
Hlis7axrkx O 16 0 < 0.0008 < 0.0008| 0.008
saj=taz =z O 16 0 < 0.0001 < 0.0001 —
frx O 16 0 <006 <006 0.6
AN O 16 0 <004 <004 0.4
TINBEIZFNNF YN O 8 0 < 0.006 < 0.006 0.06
=i O 16 0 <0001 0.003 -
EFYTF O 16 0 < 0.007 < 0.007 0.07
TUFEY O 16 0 < 0.002 < 0.002 0.02
T¥/upt RYy O 16 0 < 0.00004 < 0.00004]  0.0004
L H v O 16 2 12.5% |< 0.02 0.65 0.2
AV O 16 0 < 0.0002 0.0013| 0.002
TR S K 16 (8) 16 2 12.5% — —
* 1 BERFAA 3. 43R, Eo, BTEA ST, BMEE S, 4 SHAREEL TV,
%2 TR, EEHEAEMEZEL TVND L ERT,
* 3 HEENE & AT o TV D HT O EE (AR RS,
*x2-1-2 BRABEOREBEEESZBAHF
O REEFMERH
HERL (= =5 OB g o 5 R RIEEAE
z 4 (EREER) HEFEH FEE (m) RIEEXERREE e/t | (me/L)
B AR A (REPIR) | mARET Lk 98.0 |ft#E 0.021 0.01
s (REM) | BB HRARETRSE 0.0 EIE S 1.4 1
* 1 BEENE %17 - TV 5 H O e (A L,
O ZEEEHIEH
] o _ \ i EEREE
ABEXSD (EEERE) HPAFEH RE (m) | BEEREBEMHEERIEE (njg /’I}l ﬁf)
s (R | REiE#)IH 500 |&~vrH 0.22 0.2
A (R | REHEMNEET T 100 |&~rHv 0.65 0.2
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2 FBEAPFPELMXFEE
V59 R X TR X, B TAE S O OFHEIZ L0 F 72 IS H T KB AT L7z 2 HiS
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V59 P AR A ORIER R 1L, £2-T-3DEBY TT,
WTHNOHFIZB W THREAEREIIH D FHATLE,

& 2-11-3 FBERHFAFEIBRAERER

HE = P g8 e *172 | pmizegr s
GHARTTVENT | FEFWRE | R E R K O AR = R 7 0 < 0.04 8.7 10
AR IR (B v B A | bR 6 0 < 0.005  0.005 0.01

i 2 M 13 0 — -
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3 MixERAE
Mk EAR AT 1L, BEICTEYEAVHIBA LT D 98 M 2 x4, 168 A2 >\ TCHIE & Eli
LE L7,
B TREOMRERERIL, R2-T-4 KOKR2-TI-5DLBH TT,
MENSHR 7HA, 1227 F LU 127, M) ZaoaxF L6 fime i
F. 77 7vamaxF L on 10 HR 16 17, fEBRME 25 KOS IR R 23R 0% 30 i 34 5,
SoRMNM I AT, 19 FN 2 M2 H 7 CEREAELZBE L TV E LT,

F2-1-4 MGERFAEER (BEFSEAFRALMKHAREZSTD)

HhRE | BB BME S ON | (mg/L)
#h 2 3 0 (0 | < 0005 < 0.005 0.01
VA=A 1 (1) 0 (0 0.03 0.03 0.05
e 5 (8) 5 (7) 0.008 0.19 0.01
VA= E ¥ 8V 9 (9 0 (0 | < 0002 < 0.002 0.02
a5 9 (9 0 (0) | < 00002 < 0.0002 0.002
Hibe=LE ) v— 36 (60) 0 (0) | < 00002 < 0.0002 0.002
12-YV 7Ty 9 (9 0 (0) | < 00004 < 0.0004 0.004
11-¥/amxFLy 36 (60) 0 (0 | <o001 0.01 0.1
§ 12-¥/pmxFLy 36 (60) 1 (2 | < 0.004 0.12 0.04
% 111-hY) 7>z 36 (60) 0 (0) | < 0.0005 0.013 1
% 112-hV) Zmpx i 9 (9 0 (0) | < 00006 @ < 0.0006 0.006
NRAR=E A 36 (60) 6 (6) | < 0.001 0.046 0.01
FhIr/mrzFLv 36 (60) 10 (16) | < 0.0005 ou 0.01
1,33Y7unraly 9 (9 0 (0) | < 00002 < 0.0002 0.002
RyP 9 (9 0 (0 | < 0001 < 0.001 0.01
e 25 3 R OV LA e e 22 58 55 (93) 30 (34) 0.47 79 10
5o 3 (6) 3 (4 | <o008 24 0.8
EOH 2 (3 2 (2 0.57 25 1
14-VA ¥ 9 (9 0 (0 | < 0005 < 0.005 0.05
ZA=3=F:\V 2N 9 (9 0 (0 | < 0.006 < 0.006 0.06
2 1,2-Y7unrussy 9 (9 0 (0) | < 0.006 < 0.006 0.06
% p-rrmauaNrEr 9 (9 0 (0 < 0.02 < 0.02 0.2
? 2= 9 (9 0 (0) | < 006 < 0.06 0.6
¥l 9 (9 0 (0 | <004 < 0.04 0.4
7t 98 (168)| 54 (69) — —

1 () WIEHFSERT,
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% 3 BEHENAE 24T > TN D HEF OB TR M0,
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x2-1-5 MGEARE (BEFEAFEIMKAREZEL) OREEEBEHF

| mmen | ommss | B TEE B i B30 7E Rl kiiiris
ANFETTILGE | /NRE T LR % Vit 40  |fHERrEE R K O ERMEE R | 14 10
VEATTERE [EATERE | EL | A3 | M) ZrrzFL v 0.046 0.01
PR [PEATHARHES | 50 | R8T | iHEBMERROHEEBEESR | 13 10
AR AR 36 Vi 8.0 IEZ 3R E Y AON R E] Ve = 16 10
FHTEBITAR | FHTERIAR | 500 | R | EEEEE R R O E R = R 17 10
wEdEE | wEdme | m| eo0 ol ooV 0033 | ool
FhFr7mpzFLv 0.018 0.01
HAF R | FAR R | R 6.0 |WHEEMEZER L OEMEEEER | 24 10
AR Fn HAR TR % Vit 40  |fHERrEE R K ORI ERTEE R | 79 10
i 28 TR HIR | R AR TR HOR | i 30.0 Ny ZmrxzFLy 0.011 0.01
i) B | TR | R 6.0 IE[g - E YV AON R E] Vi = 13 10
- ] 45 T A ®ig| 260 |[FhIFrpunzFLu 0.039 0.01
fi] 2 T 485 1 — ——
[AmnErr |JEn| 750 |FhFrmmpxzFLo 0.016 0.01
R @%f%% 3 Uity 7.0 T%ﬁ&mmi%vy 0.11 0.01
AT L J&in 40 |7 hF7Z7vuxzFLv 0.093 0.01
. GBI/ INMR | 385 |12-YZupTFLv 0.12 0.04
AR /MR — \
G /MR J&30 30 |l2-v/mux=FL v 0.048 0.04
By iRl N (BRI | 6| A | MU ZmerzFLo 0.043 0.01
§ - %&mfﬁ% Jui | 50.0 ‘i%?ﬁmui%vy 0.10 0.01
R By ARTIRRE (B | 440 |FThT7/mmTFLv 0.015 0.01
By ARTARFE B ARTTARFE || 300 | hUZwmmZFLv 0.028 0.01
B - AR TR | B AR TR | Fd 0.0 IE[ - E YV AON R E] v = 13 10
REFETGHIRE | %4 | A |7 FFZmmFLu 0.035 0.01
REFHTHIRNE | REFETINE | AL | 1080 | RV ZsmmrxFLv 0.027 0.01
JREFHTARE |8 | 1000 |[FRFrmoxFLou 0.050 0.01
HEimbT a5 i - I Vi 7.0 IEZ e E Y AON R E] v 31 10
B BT ARESETE AL | F 6.0 %%ﬁ%%&@ﬁﬁ%ﬁ%% 33 10
RSETEALR | B | ARB | R OV R R 21 10
e o) EEEA 3R] I Vi 140 | AHBERVEZE R M OVEURHER MR 22 34 20 10
AT | BRETRER | AR | A | T T sep=TFLv 0.061 0.01
AT EAES | AR EAEE | R 6.0 HIE[dEE YV AON R E] i = 12 10
fRmmEERME | SETEERRE | & 00 |ftk 0.031 0.01
EARMT BT | @ ARET BT | 92.0 | fiFMR kA IR M OV R % 16 10
BIEARRE | RPEANRE % Vit 30 |5oFH 2.4 0.8
Brf AR A BRI A W¥vwm | A | 5o 1.1 0.8
BTERHERD | B AHEFD % Vit 00 |ftk 0.050 0.01
AR B AR ¥ Gty 6.0 THmAYEZE R R OVl e M 22 55 15 10
AR BAK I Vi 32.0 | fHMR I EE 3R L OV HE A e I 2R 3R 28 10
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| mmen | ommss | L) TEE B i B30 7E SR | RR
B AR | A 0.0 |WHEAMEZEH L OVHAYEEEZER | 12 10
. B AR || 300 | ANERMEEE L OMAEREZEE | 13 10
B AR J&n 62.0 |FHERMEZE R M ONERHER R 2 3R 11 10
B AR JED | AN | R g SR e OV R S R 14 10
TR ) TR E 7 Uity 5.0 IEZ ke Y AON R E] VL = 1 10
HR RS RS o | 7T~8 | AR R K O R E R 1 10
AR AR I Vi 3.0 IEZ 3R E Y AON R E] VL = 13 10
T kmfﬁ | 100.0 | 5o HE 1.0 0.8
PR | 150 |5o#HE 1.0 0.8
ZAYTT A ZEIR T H i | 100.0 | AEERE S SR K OVHE AR A R 12 10
Tt 0 TN 7 Uit 5.0 IE[gdEE YV AON R E] v = E 13 10
PIRET 2 5 | ST 2 5% | R 55.0 | fiFfe ks 3R M OVHE A Rk 22 1 10
SR T SR ST E) 1] J&30 3.6 IE[ - E YV AON R E] v e 12 10
HEFTES | FE 70 |FhIrmu=FLv 0.022 0.01
SESTITIEES SRESE RS JAin| 150 |7 hF7Z/wpxFLyv 0.028 0.01
SR TR S JEi| 400 |FhFzZvpmpTFLV 0.011 0.01
H S T L F BT B JED | AN | AR g SR e OV R S R 1 10
0 PSS ./ WET%?\ 36 Vi 6.0 |fitsE 0.19 0.01
W NETSERR | AL | 230 |ditR 0.032 0.01
. S 0.049 0.01
. B T %4 | 55~60
S T 39 HK 1.1 1
hEFTEE | A | 1500 |t 0.070 0.01
LR | BOLTEE A | R | R | RHERMEEE R R OV R R % 33 10
ERtimEnHar | RETERBERT | %% | 1000 |FhZ77mRr=FL v 0.027 0.01
§ EWmalg |(REHAE || R |## 0.017 0.01
| REMHRTHEA | RETEREIG | R 00 |FhI7Z7mmr=FL v 0.014 0.01
REHfGE | RIFHGLE ¥uwi| 110 |FhF7ZppxFLv 0.019 0.01
AATTZe vl [ IAARTHZEH R | %0 | 120.0 | fdfeME 2 2 R O iRt E 57 11 10
AN TE D=y ARG B FE Vi 6.0 EZ e E Y AN R E] VI 15 10
% AENIITE IAATR S FE Vi 5.0 EZ 3 ReE Y AON R E] VI = 11 10
ORI AT | %% | 1200 | fEERMEEE R OHEREEEESE | 12 10
ATAR  (RAARTRAR | FG 60.0 |FHERMEZE R N OVEEMEEREESR | 12 10
AR [RAARTKKR || 700 [1F9FE 2.5 1
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